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COMMAND: Define attribute-hased Sl.thtl"l.ll:tlll"e.e

3|INSTRUCTIONS: * Enter root name (e.g pride)
* Enter type (e.g. #lion)
* Specify attributes and values of entity to be subdivided
(e.g. sex=male age=old)
N.B. Teawve this blank when specifying first dimension.
* Specify new dimension: attribute and possible values
(e.g. co]Dur‘:[broun,white])@

Press "OK" to execute command; "Cancel" to try again KILL
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%% COMMAND: Display Heirarchy %%%
1. pride

z male_pride

3. female_pride

4. female_cub_pride

g female_adult_pride

Substructure currently defined for pride:#1ion
prided=> (sex=[male,female])
pride: [sex=female]<=> (age=[cub,adult])










Emac - GNU Em .18
e begin with the quantity "hiomass" which depends on

Goal ILdentifier: Exanple "time & organism”

N - e take the average with respect to time of this guantity.
Define ¥ Entity [The range or set of times over which the average is taken is defined as followh
=
Object: shp "Each hour for a period of 1 day"
Each such set or range is referred to as a "day".
Quantity: bionass [This gives us an intermediate quantity which we abbreviate as
- » "

average biomass ".
It depends on the same things as the original guantity,
Qualified: maximum average biomass except that the time variable is replaced by a new variable, day,

hich corresponds to a particular set or range of times as indicated above.

Define ¥ Entity

e then take the maximum with respect to day of this intermediate quantity.
Object: The range ar set of days over which the maximum is taken is defined as follows\

"Each day for a period of 1 year"

Quantity: Each such set or range is referred to as a "year".
Finally, we have a new quantity which we abbreviate as
Change: o " maximum average biomass .

It depends on the same things as the intermediate quantity, average biomass ,
| Quit | Save Save & Quit] Prolog Badllexcept that the day wariable is replaced by a new wariable, year,

...................................................................................... hich corresponds to a particular set or range of days as indicated above.

1 ti
Specification to this level: waxinum average hiowass T *prolog* {Inferior Prolog: run)----Bo

Base Quantity: average bilomass

new
previous
BERt

Qualifier: © maxinun
Level: 2

aximum over what?
Ty
"/ day

this level only

efine the range or set of days over which the maximum is to be taken:
Each day for a period of 1 year

ame for the range or set of days defined above:
year

Return ] [ Abort
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